H17.11.11

A 106 /
96 /
C 97
A C
1
5,000 5,000 5,000
17,836 13.414 16,705
= 75 13,777 10,061 12,529
kcal/kg 1,830 1,630 1,900
MJ/h
90 75 75




276

A B C
1,830 1,630 1,900 kcal/kg

1 106 96 97 /
7
KW kcal/h =860 kcal/kWh >
A kcal/kg ><106 / =24 h/ =<10% kg/ <860>=<B
A 660kw
B 530kw
C 620kw




15,000MJ/h

2
MJ/h
15,000 15,000 15,000
2,836 -1,586 1,705
17,836 13,414 16,705

1,000 2 1,900MJ/h




4,160MJ/h 2,060
2,100 25m
25m
2,100 MJ/h

3
MJ/h
2,060 2,060 2,060
4,200 4,200 4,200
7,117 3,801 6,269
13,377 10,061 12,529

1,000 2 1,900MJ/h




10,000m® 276
15,000MJ/h
4
MJ/h
13,377 10,061 12,529
8,000m? 5,000m? 7,000m?
0 0 0
13,377 10,061 12,529




106t/ 3,500 m?
96t/
97t/
41t/ 3,900 m?
54t/ 4,300 m?
52,000m%/15 15,000m?
10.5 / 1,000 m?
1,000 m?
120 3,000 m?
10 =200 <2
5,400 m?
10 =70 <2
10 =100 2
3,000 m?
10 =50 2
6,000 m?
2,000m? 5,000m?
1,000m? 2,000m?
8,000m? 13,000m?
10,000m?




7 1
3,500 m? 3,500 m? 3,500 m?
3,900 m? 4,300 m? 3,900 m?
1,500 m?
1,000 m? 1,000 m? 1,000 m?
3,000 m? 3,000 m? 3,000 m?
5,400 m? 5,400 m? 5,400 m?
3,000 m? 3,000 m? 3,000 m?
6,000 m? 6,000 m? 6,000 m?
25,800m? 26,200m? 27,300m?
15,000m? 20,000m?




8 2
3,500 m? 3,500 m? 3,500 m?
3,900 m? 4,300 m? 3,900 m?

1,500 m?

1,000 m? 1,000 m? 1,000 m?
3,000 m? 3,000 m? 3,000 m?
5,400 m? 5,400 m? 5,400 m?
3,000 m? 3,000 m? 3,000 m?
6,000 m? 6,000 m? 6,000 m?
10,000 m? 10,000 m? 10,000 m?

2,000 m? 2,000 m? 2,000 m?

35,800m? 36,200m? 37,300m?
15,000m? 20,000m?




9 3
3,500 m? 3,500 m? 3,500 m?
3,900 m? 4,200 m? 4,200 m?

1,500 m?

1,000 m? 1,000 m? 1,000 m?
3,000 m? 3,000 m? 3,000 m?
5,400 m? 5,400 m? 5,400 m?
3,000 m? 3,000 m? 3,000 m?
6,000 m? 6,000 m? 6,000 m?
5,000 m? 5,000 m? 5,000 m?
10,000 m? 10,000 m? 10,000 m?

2,000 m? 2,000 m? 2,000 m?

40,800m? 41,100m? 42 ,600m?
15,000m? 20,000m?




10

10

A B C
3,500 m? 3,500 m? 3,500 m?
3,900 m? 4,200 m? 3,900 m?

1,500 m?

1,000 m? 1,000 m? 1,000 m?
3,000 m? 3,000 m? 3,000 m?
5,400 m? 5,400 m? 5,400 m?
3,000 m? 3,000 m? 3,000 m?
6,000 m? 6,000 m? 6,000 m?
13,000 m? 8,000 m? 11,000 m?
38,800m* 34,100m 38,300m’
15,000m 20,000m?

10




